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UNIT TEST - III

Class-IV : Vikram Real Life Mathematics
Time : 1 Hour] [Max. Marks : 25

Name :                                                                                                        Class :                        Section :               Roll No.                        

Syllabus : 

Text Book
Chapters : 6 - 8 

Class IV 1 Mathematics : Unit Test - III

 I. Do the following sums.                                                          (3 x 2 = 6)

 1) Divide : 15 km 680 m  ÷  14.  Á♪Á

  

 2) Find the cost of 4 Mysore Sandal soaps, if the cost of 1 dozen soaps is Rs. 276.

  

 3) Add : 1 kg 750 g + 360 g + 5 kg 540 g. 

 

 II. Do the following sum.                                                         (1 x 4 = 4)

 1) A kerosene tank holds 82 litres of kerosene. The dealer sells away 27 l 500 ml in 
the morning and 35 l 750 ml in the evening. How much kerosene is still left in the 
tank ?
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Class IV 2 Mathematics : Unit Test - III

 III. Fill in the blanks.                                                                         (5 x 1 = 5)

 1) 1 decimetre is ........................................................ of a centimetre.

 2) The standard unit of measuring mass is ........................................... 

 3) ...................................................................... litres make 1 kilolitre.

 4) 5,000 grams are equal to 5 .............................................................

 5) The standard unit of measuring length is ..........................................

 IV. Choose the correct answer and write the letter of the correct answer in 

the box.                                                                               (5 x 1 = 5)

 1) 1000 metres make ..... km.

  A)  10 B)  5 C)  1 D)  2 

 2) 10 hectolitres = 

  A)  1 kilolitre B)  1 decalitre C)  1 centilitre D)  1 litre

 3) 1 m =

  A)  100 cm B)  10 cm C)  10000 cm D)  1000 cm 

 4) 1 quintal = 

  A)  10 kg B)  100 kg C)  1000 kg D)  none

 5) 10 grams =  

  A) 1 hectogram B)  1 decagram C)  1 decigram D)  1 centigram 

  V. Match the following.                                                                (5 x 1 = 5)

 1) 1 kg a) 5050 g

 2) 10 milligrams b) 1000 g 

 3) 10 centilitres c) 5750 ml

 4) 5 kg 50 g d) 1 centigram

 5) 5 l  750 ml e) 1 decilitre


